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X, /cm X /cm Xlem[d=x—x,/cm|  x=A=x%-%, y=d*-A
1 58.16 45.07 34.89 10.18 0.00 103.6324
2 59.27 46.55 34.30 12.25 1.11 148.8304
3 60.08 47.79 33.98 13.81 1.92 187.0297
4 61.52 49.71 33.44 16.27 3.36 253.4233
5 62.90 51.46 33.11 18.35 474 314.2549
6 64.64 53.57 32.75 20.82 6.48 391.4820
7 66.01 55.18 32551 22.67 7.85 452.3064
8 67.24 56.60 32.32 24.28 9.08 507.0720
9 69.37 59.00 32.00 27.00 11.21 603.3359
ALY L —
' ! Y1 ~
B - R={"nz ~2.9x10°°
"""" et E =0.3%
------- P E 3%
.......... .
2
X=A=X—%X, y=d’—A?
y=ax+b
% ‘L
a=44.70 [91]‘*5 3Rk
b=101.84 2014 34(7) 27-29
r =0.9997 [2]
8 2020(15) 72-73
f =9.97cm [3] {ii8 2013
, r’-1
o, =f ]/nj =0.029cm [4]
2020

279





